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— 37 PR WIRYD PR ROW AN
N2 said; from where do we derive that 28" is not ;719p

OVERVIEW

X7 stated that we know that °1p X? WX from the 109 of "3 9113 anR2m1. This NvoIN
cites a dispute between the 0" and the *"1 as to the understanding of ¥7w. The n"3
maintains that according to X7 the general rule is that °1p wIX>; except when it
pertains to a 77°2y2 X327 MXN (as by N127p) the WX is not p. The °"7 maintains
that according to X9 the rule is that v° is never np. The "1 and the 0" both
bring proofs to support their respective view.

Section I
= (o 71 DY N, 97 PO 1PPTIINA 19 %3P RY WINYT KDWY 9204 NN ¥HUn

It seems from the X3 here that X*'» maintains that 1 X% 28>, and this is
similarly indicated in y°P1°3577 PP -
- 119999 PR DY NY P2 AP P ANN 927 'KY 9NRT
Where X7 stated; ‘according to 70 law whether it was known that it was
stolen or whether it was not known, a stolen NXvr cannot exonerate.
- 1535 RY 979 YINY NPV SNND
The reason is because w8’ alone cannot effect acquisition’.

mooIn asks:
= (8T 97 1P%) NN HNNAT 05 12a9Y nup

And the n''1 has a difficulty accepting that X7 maintains *1p X2 ¢, for in P
N9n2 BT -
- 319130 2337 1327 PPNV 2297 KON *2)

concerning the dispute between 33271 @' by a 7213 213 -
- Y535 YIRS Y91 9934 ¥T1PA YR DNDA NPIYNNA RIY 9IND

X7 stated; ‘their dispute is when it is undisclosed (whether the owner was

' X9 is referencing the mawn there where it states that a 777 nxun which was not 2°27% 7y (people were not
aware that it was stolen) is 1931 for the 7213. The reason is because of narai NpP°n (which means according to X?W)
that the 2°372 should not be saddened (for they [would] have eaten 7712 wnwiw P20, and be reluctant to do the
7712Y). K7W claims that RD™IRTA a 7217137 DROA is not 197, There is a 051 NIPN that if it was 771 RY then it is 997,
2 It therefore does not fulfill the criterion of [577 X1] "127p, since *Ip X WIX® it is not his 127p.

3 This np1>rn was mentioned previously on 2,50 77 concerning making 7awm»a XY 2p% 07X o°92. The dispute
was whether one is more likely WX> by a 231 (the view of the 13127) or by a 1713 (the view of w"").

* The 213 or 197 acquires the item and he can make it nawnna XL 22p2 X7, See “Thinking it over’.
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wX™n), however if it known that owner was WX>7, everyone agrees that 2INs is

712, This seems to be in blatant contradiction to our X3 and the X723 in PP where R2W
states that > XD WIN°.

Mo0IN answers:
- D3P VINY DIPN U527 0N 1229 N

And the n''5 answers that wIN> is 71? everywhere even according to X71¥ -
- 195253 NNAN PIND MNNT DIVN 129 PIvY P

Except concerning a 3397 where even though there was wIX>, nevertheless he

cannot bring the 1277 because it is a mx» that comes through an 79°2v; he is
offering the 1277 with an animal which he stole. This explains why in PP where we are
discussing a j27p, there X7 maintains that WX is not 71 and similarly in our X3 where X2
states that *3p X2 WX he is also discussing a 127p. We can see this from the P05 of 131 213 onXkam
which X1 cites to support his views it is concerning M7p.

The n" offers proof for his contention that concerning v X> there is a difference between a 127p
and elsewhere:
= NDYY 0NN 72994 (0w 3,m 91 posy) 1PPTIINT NINNN HINI XYM

And the n"7 brings proof from that X723 in PP 270 where X217 there

challenges X' who maintains that *3p X% >72 wX°; X2 challenged him -
- Srm) 74 @YW PNY Y93 $MTYN DYYN 191 NIV T2 INNY YT 1037 SNonam

From that 71wn which states that if one stole an animal and the 213 subsequently
was wo7p» it and after he was w»7pn it he slaughtered it or sold it, the 213 pays

the ®22 but he does not pay the four and five that is usually paid for 7771 2D -
= 1199 YNY YINA NN INND NHY %M

And it was taught in a Xn»73, expanding on this mwn, if this occurred in a
similar manner that he slaughtered the animal, which he was v>pn for a 127p,
outside the p"n77°2, he is punished with n=> for the 772y of yin winw.”

X271 concludes his challenge to X?:
- Tmnay anm 1195 5999 XY YING NN IN)

39,7y p'a.

® The animal belongs to wpn (after the 213 was w>7pn it). He was therefore 7211 n2w a w7pn animal (it does not
belong to the original owner). There are no payments to w7p7 for 1p°11 damages.

" See TR 3,17 (*MR) ®IPN

¥ If we assume that 1p X Wi the animal does not belong to the 21. If it does not belong to him he cannot be w*7pn
it. It remains 7721 even after he was 'w>7pn' it.

% sarw 21 answered that the 0°non considered it as if it is 1M@"2 and the w7pi should be 917 to the extent that if he is
20990 it Y02 he is Y0 "0Inw 2wn (2°7272) N2 2.
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And if you maintain that wX° is not ;72'2, why does he deserve n95?! The nma
never became w7pr; there is no MO*R of Y7 *vInWw! This concludes the citation of that X 3. The

n"1 concludes his proof -
= IO 799D DD NN NHY 1INT NINN INDA XNYM

And now if we maintain (not like the n"9) that according to X7 there is no Pip
through wIX>, the X713 should have challenged X>v from the 7w itself without

the XN%392 (concerning 71 *0INW); the challenge from the 73wn» should be -
= YWTPNT N2V XD NN 7N 7419 9109 INNAN) WITPNY NI 1D 1PN 19 ON 2P KD YIN? INT

For if X7¥ maintains that >1p 8% @Ko, if this is indeed so, the 213 does not possess
the power to be ws7pn» this animal since it was stolen and there was only 21X°, and
so why is he " from the '™ 'T payments; for he did not slaughter a wTpn
animal. There is no need for the X723 to cite and challenge X7 from the &n>13, the X713 could

have challenged &7 directly from the miwn.
- 13991 1399 99 937 PYINT R N1 9951 H9Y INT NIN

But rather this proves certainly that for all (other issues except N117p) KW
admits that "1 wIR>. Therefore he is "M "7 72 since it becomes w7pH, except for

offering on the mam; that is where X719 maintains that it cannot be offered on the nam for it is a
1772V AR M¥nA.

= 1999 HIN NNAY NN NIAYN N9 WY NINAT NDY 2071 7299 991D
And therefore 827 challenges X>1v only from the &n>13; since the Xn>»2 teaches
that if he offered it as a 727p outside the p"»7°2 he is liable for n95, that proves
that this animal (which the 213 was w>Tpn) is fit to be brought to the T¥y2 M8 nns
(for if it were not fit to be brought to 71 MR 1N as a 127 there would be no law of Y1 “WINW).
This proves that 713 v and it is fit even for a 3299, which contradicts the opinion of X7W.
Nonetheless we derive from this &3 (since it did not contradict X7 from the m1wn directly) that
X7 maintains the generally *1p WIX°.

The n"9 brings an additional proof that X9 (generally) maintains >1p WX
= (BWIR,5 97 n2D) DITHN 2D W) DN 1929 IIINI N1 NI

And the n''1 offers an additional proof from the beginning of 11357 2975 o -
- )Y 2V O IPAR 9INNN 29Y 199007

Where it is understood from the 71wn there'' that a stolen 29 is 102 even on the

second day of ©''Y® (when there is no 2109 of [WwK7 0v2] 252 [aNNRY] -
- NN AN 9T 0NN NI N353 ANAD MINH DIVN 1IN 139 YN

19 %31 could not have challenged ¥ from the awn; for indeed concerning ' '7 it is understood why the 233 is s.
The 213 was n1p with wIR° and the animal became w77 when he was w>7pn it after WX,

11319,

1235 X *5x%n. The same 105 that X2 cites here in our XM3.
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And >''1 explained the reason a 77 2717 is "W v"12 909 is because it is a 7R
7522 837, as it is written when the X°21 is chastising the °"13, ‘and you bring

stolen animals and lame animals for your sacrifices’; this P10 is interpreted to mean that -
— YINY ANNY 172 WIND 2395 192 ROt NIIT DIt

The ™3’ is similar in its 7109 as a nop; whether it is before 28> or whether it is

after wINY it is 9109 in all instances. The X 1) there continues -
— WINYD 119D NN WIND INRY KON PNOA 197197 INDT WIND 2399 NnaYwAa

It is understood that before 2> a 913 is 709 for a j27p since it is not his;
however if he brings the 1277 after WX why is it unfit, he acquired it through

2N (and nevertheless the 2105 rejects this type of 127p) -
— 1995393 NN NIYN DIV INY XY NPYD IND

What is the reason that it is not qualified; is it not because it is considered a
77%2Ya IN2T XA, This concludes the citation of that X773,

The n"7 continues with his proof
— Bmynn 1ayY 99 om WINGT AT Y92 1201 YN

It is apparent that °"7 maintains that in all instances @IR® is 7132 except

concerning a /MX» where there is the issue of 771°2ya 7817 M¥n; similarly with xow;" he
maintains that ¥IX> is 711p except for N1127p (or concerning the performance of other mxn), where
it is 9109 because of 77°2v2 IR TIXA.

In summation: The n"9 maintains that X719 is of the opinion that wIX> is always
%91 except by a 7217, where the 213 cannot bring a stolen animal for a J721p even if
there was 0°%v2 WX for it is a 77°2¥2 X2 ML,

The n"1 brings two (additional) proofs that X77¥ maintains (generally) °1p vX°. One
is from the X°X\10 in PPI7 279 (concerning 'M '7T and Y17 *UINW) where the X773
challenged s'R?Ww view there (that "3p X? w°) only from the Xn»12a of yn “vnw
(which deals with m137p) but not from the mwn (of M '7); for concerning "M '7,

'3 This should read 'nx1".

'* The X3 there brings the same 7wa7 as here. Just like a 1109 has no 73pn; similarly a %3 has no mpn, for it is
always 2109.

15 The 770 writes (2,% X7p™) 01 2P °D O7X; it must belong to the 2pn.

'® This means that even though the 211 ‘technically’ owns the 727, nevertheless it is despised to be accepted on the
nam since it is a 777°2v2 7R3 Mxn of stealing.

' The X3 there asked if it is W XY why is it 2109, since wIX*2 73p; indicating that *3p W,

'® Others add X7 77°2va axan.

' X919 and 737 "1 both cite the same P105 of 131 DNXAM to explain why a 2 1277 is 2109.

20 X9 states in X7n2 Y1 that if we know that the 0¥9v3 were wx»n» then *3p 7"7. (See footnote # 4.)
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there X7 would agree that >3 wX°. The second is from 77377 2912 where the 7710 ™
cites the (same) 109 of 73 ankam (as X2 does here) to explain that even after
VIR the 211A7 127p is MWD since it is a ¥"27%¥n; indicating that in other respects WIR
.

THINKING IT OVER

The n"9 initially asks how can X7 maintain °3p X2 WW> when X7 states (in P79
51a) that °1p wIR® 1"7 ¥17°2. Seemingly there is no contradiction for in P17, there is
QW MW IR (as A0 21 explained it)!*!

skoskosk ok skok ko sk

Section 11
mooin offers a dissenting opinion:
- 51N XY 133991 N299 MANR 9y 1999 NN 19 ONT IWIAY PNYS 139399 DY

And the 5''1 has a difficulty with the n"2 wy9; for if it is indeed so, that there is
a difference (concerning 1132 ¥IX*) between N11277 and everything else), how does
»2R challenge 7239 (who maintains 71 ¥X°) previously, from the 7w77 of 129p

and not 97377 which indicates that a stolen 1277 is 2109 even after ¥ X>; proving that 'K WX’

71P); seemingly this is no challenge to 729, for
= NDIY 195 N9 NN 1NA9Pa NibY

Perhaps concerning 11377 there 7737 admits that it is 72792 2109, just like X

maintains (according to the n"7) that v is always 7P except for mi127p (because it is a Mx»
77°2v2 1Ra0).

The >"7 anticipates a refutation of his question
= PPN PN AN 9207 NN D)
And if you will say that "2k maintains that there is no difference between n1127p

(where it is a 77°2y2 7X27 %K) and other matters, for 2k maintains -
- 93 NY¥Y® PHINYA NEPY TINM (.ow) NIV AINT NI

as the one who maintains in 77210 noon that since on the second day one fulfills

his obligation with a borrowed 217, he fulfills it with a stolen 221 -
= 1952y ANAN NINT RNYV NYY NYDT

I The > asks this later in this Moo, See 164-166 77 71" nX.
22

2,%0.
 The requirement of (91737 X21) 0% is only PwXI7 a1
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for this 7"» does not subscribe to the reasoning of a 7°aya 7827 mMx».** We can
therefore say that *aX also did not subscribe to this difference and he maintained (in addition)
that 727 also does not subscribe to this difference; therefore he was able to challenge 727 from
DT KDY 1127p; since there is no difference between 1277 and other matters. This seemingly
refutes the question of the >"7 on the n"".

modoIN rejects this refutation:
= 1199 SN TN DY NN

For you must agree that X accepts the concept of 71°2y2 7827 7¥7 -
- 9259919 MON INNAN Y AVPN 2P NY YINY 33 NIAN 3 591 INY INT

For if this were not so (and there is no reservation on account of 77°2y2 7IR27 MXN)
then even if you maintain that 2> is not 7np there should still be the

question; ‘why is it forbidden to offer a stolen animal as a 3392°?
- YN MY YIND 911 P9arT0 1YY SN wIpN DUt 1

Since the term w7ps is affixed to it as the X3 previously said that wpi is o

since there is 2w 51252 WIRS. Why therefore is a 12797 7100 71a?!
= 19%3¥2 NANAN NINN NPT DIV INT NIN

Rather the reason is certainly because it is a 779%2y2 8237 MM, It is therefore
evident that »2X subscribes to the idea of 2"7n. The original question of the >"1 remains; how did
»ax challenge 727 from MI27p, since by N127p there is the reason of 2"n?1%’

The " asks an additional question on n" nVW:
- 5829 937 (0w 3,m 91 POIIT RIDNA TN

And furthermore in that X773 in 9% n2o» where X239 queried -
= DWTPN HYYN IN NI NYYUN NP5HIYH2 1129 MNPIN ’D

When the 3129 placed the stolen animal in his possession (to be n73 271 if he
slaughters it yI12), was it from the time of the theft or from the time when he
was 2eTpn it -

** This 7" maintains that even if a M3 is performed through an 772y (such as stealing), nevertheless one fulfills the
obligation of this mxn.

» moon is (seemingly) referring to the Xn»92 that the X3 mentioned previously; wpi Tw>7pm 191 2337, It is apparent
that w7pn is 51 when there is QW "W VIR,

*® Others amend this to 7.

7 We must therefore conclude that if one maintains 17 W, then it applies even by w7pn. It belongs to the 1713 and
he can offer it as a 1277 (not like the n"9). The concept of 77°2ya nx27 Mx¥n (which does not permit one to use a
stolen 127p) is only if we maintain >Ip 82 >72 wIX> (as MooIn will shortly explain). The challenge of »*aX to 7271 is now
understood. 721 maintains >1p (*72) wIX*; why does the 109 teach 1137 &21 1127p! See ‘Thinking it over’.

® The query was in relation to the answer that *2rw 1 gave to explain the view of X9 (see footnote # 9). Even
though *1p X2 WX nevertheless the o°»om placed the animal in the N of the 1213 that if he was 277 it Y2 (after he
was w>7pn it) he is 1712 271, X237 posed his query in connection with this answer.
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= 205my19% 2INAY 139 NP9d PN

And the difference will be concerning her shearing and offspring in the interim
period -

- SannT NoD NIMT NY SPA NPT NN
And s'%27 query was according to X as is evident from the X310 there-

The >"7 concludes his difficulty with n"9 now:
= NN DT IION NI YINY NYWN TNID DY NN 2P Nnbya »N)

And if X7 maintains that generally (except for n1127p) "1 x>, then you are

forced to maintain that the nm791 ns belong to the 213 from the time of wIN»
(before he was w7pn it32); how can X217 ask if it is in his possession from the time of rzmpn‘?!”

In summation: The > asks two questions on n"1 nY>Ww that X7 maintains that WX
1> everywhere; except that a 977 1299 is 127p2 709 for it is a 77°2y2 AR2T MNn.
First, how can »aX challenge 727 (who maintains °3p W) from 2137 X9 127p),
perhaps 7727 agrees with X7 that n127p are different for it is a 77°2v2 A827 M¥N.
Secondly, how can X271 query when the 1713 acquires the animal (72213 DYWn or NYWn
7w TPn); when he is WX nywn a11p?

THINKING IT OVER

The "1 insists that *>ax must subscribe to the 9109 of 2"7%n.>* For if not, then even
if "1p X% WX he should be permitted to offer it as a 127p (for there is 1wy WX
awn). Why cannot we argue that »aR does not subscribe to 2"77%7n and °1p X WIR;
the reason it is 12997 2109 is because of the 3":7°1x of P17 89 121721

sk sfeosk skoskoskook

** Others amend this to *xn>.

0 If the o"an placed the animal 1mwa2 from the 72233 nyw then the M7>M M after the 72°33 belong to the 213; and if
it is 7w 7Pn NYWH M3 then the N 7901 M3 up to the time of 7w»7P: belong to the owner.

3! See previous footnote # 28.

%2 The w7pn certainly took place after wix*; otherwise the w7pi is certainly not 2.

3 1t is therefore obvious that X9y maintains “Ip X2 W; it is only that the 0mon placed it Ymw2 in order that he
should be 72w for v *vnw; therefore X211 queried when this 031 17 takes effect 77°1 nywn or WIpn nywn.

** See footnote # 27.

3 Or that the 5" teaches that w7ps is not 2. See (197 ,196 77wi) 7"nK.
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Section II1

The "1 offers his interpretation:

= 9P ND WINY NDIYD 0P 9927 PN 13929Y N9 )9 Dy
Therefore it is the view of the >''1 that according to X, in all situations, @IN>
P RY -

- QYN MPYI YIND 990 (v, 19 971055 NN HTNNT XA
And that case of X202 ®1an P19 where X7 maintained that °3p wX>; there there is
wIN° and 2w MW -

= PT9AN RNYNI NoVN RIPI¥NIT

for initially it is called a hide, and now it is called a tray. However when there is only
VIR by itself then X7 maintains that *1p X7 WIN°.

The "1 anticipates a difficulty:
= QYN MY YWIN? M1 993 1299 2)7 2) DY 9N
And even though that concerning a 1297 there is also 2w %2 IR -
- YTPN ROV PYIN XIPIPNT D99 99INTS
As the X3 stated previously; ‘initially it was mundane and now it is sacred’;
why therefore does &7 maintains that by w7pn the rule is that *1p X% 2>, even though that by
wTpn there is also awn Mw?!

mooIn responds:

- 0Np 37’1)‘,7 1D 990 RDY WITPNY HNONN NIN 1D 2P PNRT 1199 0IPN YN
Nevertheless since he acquired it only because he was w>7p» it, and it was not
the s'23) prior to the wpn (for prior to the wipn there was just ¥R, and X maintains that
1P KD 270 W), therefore, since it was the process of wpn that gave the 213 the ownership over
this 1299 —

- A9%a¥a ANAN MISN DIVN °Ha9DNY NInnT 1Y909

The 770 disqualified it for an offering to '7 on account that it is a 7R27 mMX»
77°2v2a. When the acquisition of the item coincides with the (beginning of the) mx» (as in this
case where he acquires it when he is w>7pn it [the w7pr is the beginning of the 727p7 NM¥n]), then
it is 709 because of 77°2va 1827 Mx¥n. However if the 137 is completed before there is any mxn,
then (according to the >"3) there is no 7109 of a 77°2v2 A827 MY

The >"1 proves his contention that there is no 2105 of 2" when the 13p precedes the mgn:
= 599X 19319 29 179 9RT (0w 5,5 97 1) IIAD 29 9993 N1

3 This was mentioned previously in m2oM. See (the text to) footnote # 3. See (also) footnote # 21.
" The n"a amends this to read "D ¥ M1p 777 K97
* It is (only) 727p7 2109 on account of 2"7n; however the w7pr is 91 (together with the 121p).
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As is evident in 91137 2979 P70 where 21 told these peddlers
- %%5595 97398 TN D930 11 NON 19338 2

When you buy the 230777 from the gentiles, let the gentiles cut it down, etc. -
- “awun MY 170999 12999

And the X723 challenged this ruling and asked let the Jewish 211X acquire the

29077 through 2w "W WIN
- 995393 NNAN NINM 9N NY 1N 1YY 1P INT YIWUN

It seems from that X713 that if indeed they would acquire it through "1 IR

own it would not be considered a $79°3w2 IR IR, This proves that 772y AR27 MYn
does not apply when the 1"1p was accomplished before there was (even) a (beginning of a) mxn.*?

mooIn cites and rejects (out of hand) a possible refutation to this proof:
- $n95ay3 ANAN MIYNY ONN YN NYT %3NNI 93 PNYY 9295 9207 909 44‘,71'\1‘11

And it is not feasible to assume that [X1177] 17 agrees with 1''2%9 there, who is
not concerned about a 2''7713%.

The "1 offers an additional proof concerning 2"7in:
- NRYHONT NI IR (ox0 91 OND N 1IN
And in addition the X723 states there; ‘this beam of a ceiling -
= D%YN MPH 2910 RMPN 1129 N2 1711y

¥ In 9 2917 it reads X317 20,

0 The x7n3 there explains that we are concerned that the property where the 2°077 grow belonged originally to Jews
and these gentiles (who are selling the 0°0771 to the *1211X) stole the property; however the rule is that no11 7R ypap
and if the Jewish 151X would cut the 0°077 there would only be v (and if we maintain 711p 11°R ¥X° the 0°077
would not be 03%). If however the 2121 cut the 0°077 and then sell it to the Jewish 121X, there is N "W WIN
which is certainly 711p.

*! Tnitially it is called a 0777 and afterwards when it is used for the mu» it is called a Xawyw¥A. The X3 there answers
that there is no awi1 "W for it was always referred to as a X111 (even before it was cut).

* There is an act of stealing involved here in order to acquire these Nywy1. The *1221X are (possibly) stealing these
nyw i from a Jew’s property.

* In the case of the 0°0771 the 11p was fully accomplished (granted through an 77°2y) at the time of (W and) "W
ow:. At that point it belonged to the 121KR. The mxn begins later when these myw1 will be used for a mxn. [See the
X713 there that we are discussing the miywi that the "M>1X use for themselves.] By a 1277 however, it does not
belong to the 213 until the w7p77 (for a 127p) is on1. At the point it becomes wTpi he is acquiring it through the 7772y (of
stealing). The 1°3p and the m1¥n coincide. This is a 77°2y2 7827 MY which is 7109.

“Ttisa P17 since most authorities maintain (and the 7357 is) that a 2"7n is 108,

A i [%1177] 21 would also maintain that there is never a 2105 of 2"7n, then there is no proof (that 2"7%¥n is not 201 if
the 717 is completed before the mxn begins) from the ruling of [X177] 27 (that it may be used if there is 1w WX
awn) to the ruling of X7 who maintains the 7109 of 2"7.

*® If one steals a beam and uses it (as is) as a support for his ceiling, the law would require for him to return the
beam since there was no M1"w. However the o511 instituted that the 213 may keep the beam provided that he repays
the owner the value of the beam. The 0°»211 realized if one would be required to return the beam itself (requiring the
dismantling of his ceiling [and house]), the 211 would be loathe to consider returning it.
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The 3227 instituted a ruling for the benefit of those who repent.
- A9%aYa ANAN MINN DIV RN HD XYY BI5YWN 1983 8Y ' noro)

And there is no requirement that a 7570 needs to be ‘yours’; and the only

reason to claim that it should be ®1o2 is only on account of 2''71x» -
= 119%2¥2 ANAN NINN DPYN R 19297 XNIPNA NP 99

And nevertheless it appears from that X723 that if the 700 was acquired merely
through a rabbinic ordnance (not even through a valid 1p), it is therefore not
considered a 2''773n» -

- 99) 1937 N3P ON 1V Y5
Then certainly if he acquired it (prior to the mxn) through a valid 1 (such as
awn MW, etc.), then certainly there is no 2109 of 2"77¥7.

mooIn anticipates a new difficulty:
- PON ARD YW 299 (5,75 97 1p5) NP I1AD W93 SNt 8

And that which 2py> 32 919K 1 states in the beginning of X»p 917 p1o; if one

stole a No of wheat -
- NN NUN 79213 DT PN T2 183 NYN N3N 0397 ANON NYY NNV

He ground it, kneaded it, baked it and separated 57°n from this bread, how can
he make a blessing (for the mx» of 771 nw1on); for this is not a blessing to G-d

but rather it angers G-d.
= 119%2y32 ANAN NINN DIYMN NN NNP MIYT RNYYI 920 '819T ONN DD NN

And X127 there rejected this, for indeed >"2X7 can generally be of the opinion
that "o is 73775 however here by the 71917 he cannot make a 17572 (even though he
owns the bread) since it is a 2''7X%. This ends the citation of that X 3.

mMooIn continues with his question:
- a5 019 NPt 2) Y 9N

even though he acquired the item prior to the myn. This seems to contradict the view of
the >"1 that there is no 2"7787n 2109 when the "7 was completed prior to the mxn!

mooIn responds:
=959 NINNY NN DY DNY DY 999INY N9 PIyy

It is proper to be more stringent concerning a 77293 where one mentions 2w

" The xm3 there relates that a woman complained that the 1210 in which the 1321 were sitting is 2109 since they stole her
wood for the 730. Her claim was dismissed based on the preceding ruling of Xn?7un7 8mw2. See ‘Thinking it over’.

8 This xn™2 was cited there as one of several 2°XIn who maintain 72 1MIPHRA MW (o1 PP XY W).

* The 1713 acquired it when he ground the wheat (which he stole) into flour for there was (11127 N7 WWRW) 1L WX
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2. Therefore even though he was 129 it is not proper to make a 71972 for this 771 nw-on
which came initially through 77°73.

nooIn offers an alternate resolution:
— %11 NYYa N BN 99 ON

Or you may also say; there in the X713 of 1% it was merely a rejection of the
assumption that >"2IX7 maintains 721 MR NIW.

In summation: The *"1 maintains that according to X1 the rule is that WX’ is never
71 p. There can be a 71p by awn M1w) wIR>. Nevertheless there is an exception of
2"17¥n. The 7100 of 2"7%n however, is only when the 117 and the 7772y coincide (as
in the case of w>7pm 213) however if the 112 (which was done 77°2v2) is completed
before we do the mun, then there is no 7109 of 2"n¥n. (there is an exception when
one makes a 171372.) The >"1 proves his point from the case of the 21X and XMw>
Xn25unT that there is no 2"n¥n if the 11p is completed before the mxn begins.

THINKING IT OVER

The >"3 brings proof from the ruling of Xn%%vnT XRMW> (by 1010) that there is no
2"7¥n when the 11p is complete (before the ).t Seemingly by 71210 the "1 and
the mxn coincide. He only acquires the (stolen) 700 when he places it on his 77210
(that is when it is considered a Xn2unT XMW2); it is at that point that he is
observing (at least the beginning of) the mxn of 1210. Why is there no 7109 of

2"nn?!
sesesfesteslesfe e fe el etk

39 9"3 maintain (and so is the 71997) that np "w. After X listed various o°Xin who (according to *"2X) maintains
that 7y 1Mpn MW, X217 argued that it is not necessarily so. However s'®27 refutations are not to be taken that
seriously; they can indeed be refuted if one scrutinizes them carefully.

°! See footnote # 47.
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Section IV
The "1 now explains how the difficulties that he posed on n"2 nvww are resolved (according to
"3 nYw):
= DIMN XD 193991 929V AN 7999 DIYH XU
And now it is understood that %5aR previously challenged 727 properly from
BITAT KDY 1127 -
= 195292 ANAN NINN BYWN XY XN DD INHPN NP YIN? INT
For if mp wiN° (as 727 maintained) then why is a stolen 1277 disqualified; it
cannot be considered a 2''773n» -
- NP AWVTPIVY ONPT I
Since the 191 acquired it as his own before he was w>7p» the animal. The 171
acquired it through vX> (according to 7127). When he was v»7pn the animal it was already his
[and according to "7 nv>w whenever the 13 was accomplished before the mx» there is no 7109

of 2"nxn].
= IYITPNAY HNNN RIN 2P RY NT99) WIN? INTI NN

Rather we must assume that 2R3 by itself is not 713? (contradicting s'727 view);

he 1s 717 the animal’> only because he was w>7pn it -
= 910D PY0NTI DYN MW YINY IN Y MW WINY 15D NINY

Which makes it a w9 "2y IR or 2w "MWy wIN® as the X eventually

concludes -
= 19%33a NN MIYN Y YT OIVN Yoan ‘[Db?

And therefore it is 9100 since it is a 2'';13%.

The *"1 now addresses the proof that which the n"3 brought from >*pprin P12 where X2w
maintains *1p ¥R>:

- 5¥ 59 5311 XY ON ) (0w 3,m 91 pos) PPN
And in Ppa Poo also, if not for the Xn9992 which he cites (from where the X3
actually challenges >X?1) -

- RDIYY 1999 S8 NY NPT NN

he could not have challenged X from the ;7w itself; the reason he could not
challenge X7 from the 7wn is -

2 If there is no 13p at all even with the w7p73 then there is no need for the 70 to exclude 9737 X291 1327p. Therefore
we assume there is a 13p and nevertheless it is 27777 9109 since it is a 2"7xn.

%3 See (the text by) footnote # 5.

>* This is the X012 which states that if he stole and transgressed 711 *0nw he is N2 2.

St *1p X2 WX, then it did not become w1, so why is he liable for v “vinw?

5 This should be amended to read onnT. See 2,7V 1P%. The 7awn states that he is ' "7 w9 if he was w>7pn the
1nn2 before the 77°0m AmPav.

T If *17 X2 WX, then it did not become wpi, so why is he 219 from "M '7?
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- QYN MW YIRS 1YY MINT 0IUN WP TN 999Y 2P XY WINYT 23 Y N
For even though 2R° is not 1272, nevertheless the w7pn is effective for there is

QW W IR and since the wph is effective, therefore he is Mo from 58
no PM>wn avn [of any kind] to w7pi)-

M '7 (for there is

= N9IWY NAYD M1 TINDIT 199 NAVTN)

And on the contrary the 1w itself seems to support X9 that *1p X7 wx° -
=999 NI ITYI NIV NIN IDWT /N 7110 9109 23 WITPN KD 3 %P WINY INT

For if 51p wR° then even if he was not w>7p%, he should also be 212 from '™ '7
since he is slaughtering his own cow and selling his own cow -

- ©O59m YINY 9NINT WIPY WY 13NYP 529 (3,00 1 DY 139 109919
As 311 ' later challenges »'' who maintains “1p @R from this very same mawn.*!

The >"9 (based on this conclusion) asks:
- NN NN 1997 ZA1ns 299 N 7999 NYT 719990 NN

And on the contrary it is astounding that the X723 did not challenge >'', who

argues there on X", (from this 31wm) -
- S 991 319 YINYT 9209

And he (°"7) maintains that 28° by itself is 279!

mdoIN anticipates a possible answer:
- %233 193 DOYya WITPNY 1N WIPY WD 1DPY 23WNTI IV XD

And we cannot answer (that there is no contradiction from the 71w» to 7777 ") as
the X223 answered for »''2. The X3 answered that according to 7" the meaning
of w7pm in the mwn does not mean that the 1713 was w>7pn, but rather we are
discussing for instance a case where the owner was wsp» the animal when it was

*% There is a challenge however, to X919 from the Xn2. According to X2 why should he be N2 2™ for “vInw
vn? This animal is not "X for a J27p since it is a 2"7¥n. It became the s'213 through the w7pi. This qualifies it for a
2"7n (according to the °"9). There is no P17 *01Mw unless it is 727277 XA,

% See footnote # 56.

6051 maintains that in a case where 0277 WX»NN 1 the 1213 is 711 77 Mws for 121 AW X7 HW.

6 According to 2" why is it necessary for the 71w to say that the 1213 is 1102 if he was w>7pn; he should be 1112 even
if there was only wIx> without wp7! (See later for the answer of 9"9.)

62 5" maintains there that XN™1XT1 a 72737 NXVA whether it was 771 or not is N793» since (as the ®xnx explains)
anp wiXe. [The reason it is not n19n if it was 7v71 is because people should not say the nam is N12°12 921X (since it was
1y that is was stolen).]

% The mwn states that if he stole and was w71 he is 'm "7 w5,

% The X3 should have challenged *" if 1P *75 wX° then he should not pay ' '7 even if he was not w*Tpn since 12w
9212 RIT 19 M2 R

% There was no W and therefore the reason the 213 is Mws from 'm "7 is because the owners were w7pn and this
wTpn is 71 (according to 9"9).
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in the possession of the 213. Seemingly we can offer the same answer according to >"; that
is why the &723 did not challenge >".

mooIN rejects this answers:
= TPNTAY INND NID XDIWY ONN 7599 NI 15 ONT

For if this is indeed so (that the X723 is assuming that the 0°%v2 were w>7pn the

nnn3), then what is the challenge to X%'w; namely why does he receive n1s if wi
*17 ®Y and the wps of the 213 is not 717 -
= DYDY IWITPAY 1123 111 DAN NNAY MINIT 929Y NI 2NN NN

But he is properly n22 2391 for this 772 is fit to be brought 7¥m %78 1o since
the owners were w>Tpn it (and not the thief) according to the proposed answer. It is
therefore obvious that the X713 in 7°P137 does not entertain that the 2°%y2 were w>7pn it but rather
the 1712 was w*7pn it; the question remains why did not the X723 challenge °" from the mwn
(instead of challenging only X7 [from the Xn>*2]).

mooin replies:
- %2539 191Y Y81 M1 Y YN

And one can say; indeed the X3 could have retorted (when X?y was
challenged) ‘and according to your view (the view of *"3)’ is the 7w understood!

mooin offers an alternate explanation why there is no question on >"1 from the mawn of ' '7:
=99 NI WINYT 1190 5PN 923 NN 297 923 ON

Or you may also say; that >''1 also maintains that 28> (alone) is %3 K9, and therefore

there is no contradiction from the 7wn (which [seemingly] maintains > X? @) to 7707 " -
= N1991 YT KXY P2 NYTI 122 9INRT NN 297 XNYLY

And the reason >''%" maintains that whether Y711 or Y711 XY the NXUM is NPoR
(is not because °1p ¥X°, but rather) -
= 119%33a ANAN NINNT RNPYVY YN XYT DIVN

Because he is not concerned about the explanation of 2''71%%; >"9 is of the opinion
that 2"77¥» cannot disqualify a j27p if there was awn MW VIR,

MooIN continues that if we assume the latter answer -
- 67’)? Y15 WINY 920P NIAYY NI ONN )9209) XD

Then we cannot read in the text there; ‘what is the reason of >"7; he maintains
IR’ alone is 7392°. According to this 1"X (of Mp0IN) both X7 and "1 agree that X 73 WX

% There is a difficulty according to *"7 just as there is a difficulty according to Xw.
%7 This phrase is to be omitted; the reason "3 is 2°w2n is because he does not maintain the 2105 of 2"77%» (but not
because *1p VIX).
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*17; they both agree that wpn is %n through own "W wiRe. They disagree if 77°2y2 7827 M¥nH is
501 the 127p.

The *"1 now addresses the proof which the 0" brought from 7210 n2on that *3p w:*®
- Fuinoa 79939 RN YINY ANNY NIN VIR (w1 5,5 91 131D2)

And in 77210 n2o»n where the X713 states; ‘rather it is after 28%; so why cannot he

bring the 127p, he acquires it through wix>!’
- Paun mw) vINoa NP RN AYIYH9 N

This is the explanation of the X723; ‘but he acquired the 772 through @INo
QW7 S%RY’5 why can he not bring it as a 127!

mooIn anticipates the obvious difficulty:
= THND NYN 99910 PRV N0

And the reason why the X773 mentions only @IN> and not awn "w, is -
- DY M1PVWA ANIP 19V BNPY YINY 15 H¥T 0IVUN

Because it is through the vxs, which preceded it (the awn "11°w), that is how he
can acquire it with 2w 9125w, Without wX° there can be no 1°3p through ows "W alone.

moon fortifies his answer:
= 119939 RN NIN YWINYA YD) NDT D990 5PN)

For there are certain texts where it does not read that ‘he acquired it with 2N°
(alone)’ but rather, ‘he acquired it’; meaning he acquired it through aws "W wX; together.

The "1 continues to fortify his view and refute 0" NYw and his proof from 7210 Ndon where the
X773 was challenging the view of 711 ":
= 9P NI WINYT 115D 5PN 13N 329 11D 9IRP 13NN %29 ONN NNT Y1)

And you should know that the meaning there of wX°2 717 X7 cannot mean with

%8 See the previous text in 120N (from footnotes # 11 -18).

% The xm3 responded it is after wIX°, but nevertheless he cannot bring it as a 1277 for it is a 2"77%». The 0" inferred
from this that even when there is a 73 (before the 71%7) there can still be the 9109 of 2"71%7%. This contradicts the view
of the >" that whenever there is a complete 13 before the m1¥n there is no 9105 of 2"7¥n.

" The own "w is that WP RNWM PN XIpvn. This 1°3p takes place now when it becomes wTpn; in such a case
where the 1Ip coincides with the 7187, then the > agrees that there is the 2109 of 2"7¥n.

! The crux of the dispute between the >"3 and the n" is that according to the n"3 even if one acquires something
through 75 wIX°, nevertheless it can become 127p% 2105 on account of 2"7¥n, even though that it was totally his
before the m1¥n began at all. According to the >"1 however, if there is a complete 17 before the 71¥7 began (as in a
case where °Ip 72 WIX°), there cannot be any 2109 of 2"71¥n. Therefore according to the > if the X713 would have said
initially he was owi 17w v a1p then the response of 2"7%n is understood for the 7" 713 was through the 1w
(WP RNWM PN XIP°vn) owi which makes it a suitable candidate for 2";7%n; however if the X3 only says °Ip WX’
then how can the X723 respond that it is a 2"7¥7 if the 11p was completed before the i17¥n began.
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*72 WX (as the n"7 would have it) for there it is 337 '3 who is speaking, and '3

717 maintains that "1 X® 289, so how can the 8m3 ask w2 719 &7 if this means WX
72. Therefore we must say that w2 7°°1p X7 means with awa MW WX,

modIN supports his view that "3 maintains *1p X2 VIR
- WINY INNY 193 WING 2395 152 13PN 1pY AN

For 111 "1 maintains later that the obligation of a 213 to pay 'm '7 is whether he

was 0 121w before wIRY or whether it was after 2N -
= 999 NN ITYWI NIV NIN 1IYW YINY TNND 290 INNAN 237 YINYT 920 IN)

And if °"7 maintains 51 2R (as the n"7 maintains) then why is he '™ '7 290

after @R when it is a case of =51 R¥7 Y@ 721 X7 9». Obviously we must conclude
that >"9 maintains that *17 X% w° and when the X3 in 7210 asked wIX*2 73°°3p X7 it must mean
awi WY vIRA and therefore the X713 there could reply that it is 7105 for a 1277 (even though he
was My ey YR A1p), because it is a 2"17¥n1 since the 173 and the M¥» coincide.

mooin offers an addition proof that 131 'Y maintains °1p X7 WX
=93P RY WIN? 79 9NN MY M0YT NI 2297 N99WUN 1IN 229 99NP NN HHINI)

And in 8702 5Man 770 there 3 '™ states”” in the name of >R3> '3 that mw= "W

followed by 2R> is not 7.7 1t is apparent that *3p X% 75 W, For if it were Anp the fact
that mwa M1w happened first should be irrelevant.

In Summation: According to the °" the question 2R poses to 727 is; if *Ip VIX°
then there can be no 709 of 2"7¥n by a 713 j27p since the PIp was accomplished
before the w7pn.

The X723 could not have challenged X9 from the miwn that w7 213 does not pay
'm "7, for the mwn (seemingly) supports X?W. If *1p WX, then even without w7pi,
the 21 would be Twd from "M '7 since 121 MW X177 17w, The X M3 could have
challenged 77 " from that mwn (if we assume the X073 that °"7 maintains 2R
°17). Alternately there is no question on 77 ' for he too maintains *1p X7 WX,
however the 1277 is 71927 since there is no 2"7%¥n according to >").

Concerning 7171 " (and the X713 in 71210) we must interpret X2 771 X7 to mean
with v M1 WIRY (or change the X073 to 771 &M) for 1AM " certainly maintains
1P XY VI,

72 a,m0.
73
R, 0P 1905.
™ When the item was by the 171 the 2°%¥2 were not wx>». Only when the item was transferred out from the 1713 were
the wx>»n @9y, It is the view of 131> " that it is not 721p. It must be first x> and then mwA "W,
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THINKING IT OVER

The mwn” which states that by w»7pm 2313 he is 'm "7» 7105 seems to maintain that
1 &% wI*.”® The Xn>12 (on this 7wn) concerning yIn *vInw,”’ seems to maintain
17 wike.”® Why therefore does the X3 challenge X1 from the xn*92 [and should
have challenged 777 " from the 71wn], when the X713 should have questioned the
contradiction between the 71wn and the xn»2?"

koot sfeoske sfeoste s sk skt sk skeosk skesk

Section V
MmooIn continues with the view of the n'":
= 93P 219 WINY NDIWDT ¥IUN (.x,1p 97 1mp%) NINA HTNNAT AWPH 0N 1AM

And the n''1 asked on the opinion of the >"9; that in X902 %17 9 it seems that

according to X", even 72 WINY is 7P -
=99 AT 291 NN 990 1T 930 199N D201 IJVIT PNINNN 72994

For the ¥773 asks from the mwn there where it states; ‘if the customs took away
his donkey and they gave him another donkey which they confiscated from
someone else, the rule is that this donkey, which the 2°021% gave him, belongs to

him, because the original owners were certainly wx™n.
- 591 9927 Y123 NDIYY NIYWA YIRD)

And the X n3 states there the miwn is well understood according to X for the
mwn is discussing a case where it was known that the owner was wX>» and the

mwn is according to everyone (71271 w'"9). This concludes the citing of that 23, It would
seem that according to *1p >72 WX ROW.

The n"7 anticipates a possible refutation. Perhaps there it is considered mwA 11w WR° for he is
receiving the 71n from the 0°021 who are the original 0°233. This is why it is 71p; however, WX
*1p X7 °72. M1OIN rejects this approach, for the case of —

- Sty YIND NN %Y 2PUN AR 9N 1Y 13N

‘and they gave him another donkey’ is considered in that X973 as 375> wIN> (and

3 See footnote # 56.

76 Otherwise there is no need for w7p7. He should be 71 "7 7109 since 2w X1 12w if "1p wIKe.

7 See footnote # 54.

8 Otherwise why is he n15 27n? If *3p X2 WX, then the wWpi is meaningless and there is no ¥ 0w,

” See (71R7) R"wann and 270-1 My ek,

8 See footnote # 3. X2 maintains that if we know the owner was wx»» then there is no nP¥2n» between 11271 v
that the 213 can be MN2WHA2 ARMY 7NN,

81 mooin will shortly explain why it is considered >75 wIX> and not MW" MW WX,
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not MW7 MW VIX°) -
= DIYNIN DYDY 92NN HVI BN Nan ONN 9INPT

For the X711 cites a Xn>12 which states ‘and if he took a donkey from the 2°021

he is obligated to return it to the original owners’ -
= 9P ND 15 VINY 9207 Y9I

And the X773 explains that the Xn»92 (argues with the 71w” and) maintains @IN®

I 89 973; therefore he must return it to the original owner. This proves that the case of 12 1103
7 is a case of 72 IR and not a case of MW" MW tzmv,” and nevertheless the 71wn (which states
the he may keep it) follow the view of X7W; proving that according to X?W the rule is 1P 72 WX,

mooIn continues to explain why indeed is it not considered mMwA "W WX, since the Jew is
receiving the 71 from the 0°021. MoOIN explains:

- 8315 025 N9 HYT DIVN YA MY N9 BPYUN NYT AN NNHYL)I
And it seems that the reason it is not considered NMwn "MW is because the 2°001

are giving the 711 to him against his will. In any event it is therefore apparent that X?1v
maintains *3p 72 VX as the 0"7 maintains and not as the "9 understands it.

mooin offers the response of the *":
- PRI YN XY Th3 5Y XN»aaT ¥ ponys 13934 YoM
And the *''7 answered that we must assume that the Xn»92 (which states =1

D NWRIT 2°7927) is not discussing the same case as the 573w (which states 17w X371 77) -
= DIYNIN DYYYAY NN NNP NHNHY oY NI 29N NNP PPNHNINNI NNT

For in the mw» it is taught that it belongs to him (the %) and the xn»=2

teaches that he is to return it to the original owners -
- 535 915 YINY YINT N299 NIIIN WP SNNYD PIINANT 19 ONT N

And furthermore if the Xn»=92 is referencing the mw» there will be a

contradiction to /729, who maintains %1 57> wIN3, from the Xns»2 -
= D NNV PTY IYNINI KDY DI1MIY DIIYANY 299N NN’ NN

Therefore we must say that the xns»2 is discussing a case where the original
owners are standing thereby and were not wx>n» when the 0°037 gave their

171 to this one -
- )9 NY YUNNI 7Y NOINT INN 91057 22 5y 9N

82 If it were nWwA 11w WX the Xn»3 would not have ruled that 1P K2 MWA WY IR,

53 mwa 2w is np when the acquirer from the 233 (the ip19) is accepting the item willingly. Here however the Y72
is not accepting the i willingly from the 021.

8 The proof of the "~ that the case of 7 12 1NN is 72 WX, is based on the assumption that the case in the xn™92
and the case in the 71wn are identical. The "1 negates this assumption.

% According to the n" the 73wn and the Xn>>12 are discussing the same case. See previous footnote # 84.
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Even though that eventually when it came into his hands (of the recipient), the

owners were wX»n», he is not 721 -
- ynph ynwnTa 2P 8 YINY 0D MY MOVT

For nyw21 "2 which precedes wiRs is not ;7132 as it seems from the X7n3 later -
- Pontn MINNY PN 1Y RN XNDINAT 1999 1299 1999 535 RY 533 K199) YINY

And wR> alone is also not 7132 even according to 739, since he acquired it

illegally and he is required to refund the monies -
= 2159 NNNT 2PN UNRMNMY 1753 NIIYD 299X P50 ann YaN

However the mwn there is discussing, according to X', a case where it was

known that the original owners were wX>n» before it came into his possession -
PP MWY WIND 119Y 1Y 1Y NN 99

So that when it came into his possession there was niws "5 wINo,

In summation: The n"9 maintains that from the (Xn»727) 7IWH concerning 2°001 it is
apparent that X7 maintains *37 2> [the ¥n>12 and the 7awn disagree]. When the 1w
mw is 2"va it is not considered M M1w. The °" maintains that it is MW" " (and
therefore the 71wn maintains °3p); however, the Xn>72 is discussing a case where the
original 0°9¥2 where present when the 0°021 gave it to the current recipient. Therefore
it is not 7P (the WIX> was after the mwn "°w and after it came X710°R2 17°7).

THINKING IT OVER

The "7 states that even according to 727 he must repay the money of the 7 to
the original 2°>va. He explains it by saying 179 82 x110°%27 11°2".°" Seemingly the
rule that one must repay the value is even if 17°% X2 RIn°13, as in the case of an
n7aR. If the o092 were WX after it was found, the finder is obligated to repay the
owner the value of the item, even though 179 &3 x7n°72.”> Why does moon add 13
1% X2 xR

8 Others amend this to R,

87 %, 0p.

% When 1121 states >3p WX this is only in reference that the 213 is not required to return the stolen object. However he
must certainly pay for it.

% See previous footnote # 88. The meaning of DMK 2°9¥2% 1AM in the Xn™12 is that he repays the value of the
1 but he is not required to return the 7 nn itself. See “Thinking it over’.

% The "1 does not subscribe to the assertion of the n"1 that when the nwA "W is 3"va it is not 711p. Rather v
mMwA P are always AP,

°! See footnote # 89.

%2 See X371 7"'7 X,10 NOOMN.

% See (TN RN

19

TosfosInEnglish.com



MR "7 'O R0 P 702

2"IENY IR 070 WIRY 1A 0" N NPIoana 0N RO NPA0 TR07 019°0

,"ﬂ

n'a

R07

24" AP 1R 7D IR

SR QW WY IR

X27) QW WY WIR 12772
TN QYYA AN R (WIpn MY
J17°2Y2 RA

7P MY MAI PIPT DR
QW WY VIR IR WIpn
129P2 03 2O

IR QYLD AP R 127P2 P
Mnpn IRW2 .770av2 RA
ROWY °1p 70 WIR°

VIRD I RDW MR 730
D3 ONRAT MR 7P WKW
hby

2"22 P IR IR

1P IR 72772 TR

RT3 (1927037) ousa

72313 DRV 77N 72 IR KW
PR OOYTIOR? P2 YT P2
2P RY 9T WIRY 0D ,N090n

X177 QW D 7IWAT N AwRn IR
,OWn PWY W ayun anp
MIXT IRT WP XN D"RWH

.2"nxn avon 2P

D TRXY TIWRT TR WPn IR
VINCW XKW T M ' vama
IPRY I210 127P °237 PO AP

2"7%n ayvn R

DY ORDWH awpn XY L.aw
WR WP 2 W mawnd
20w XNMM2 W M T abwn
X?7 MR W ocumw own

WP 1T RDY OIp K7 WINY

K7 WINW IRA NI ROVINRT
nywn ANpw XT 1PN axag Ip
WTPT N 7223

X277 7P W aR2 .00 qwp
O7IP) VIR NYWH TIpYw ORTIA
(wpn

oRg o (R7WH) ova XA Law
nYWn IR 72733 NYwn S wIpn
v

790N QW WY VIR W v
PRI PIMAR ROWM XOWH
(2"n¥n

217 272 WIRY RWHW 10

TR RDW .R,TR NIN2 Bran
¥"0% (2927 WRPNIWY) 3172
NP WIN

WIR2 RIPW 2"YR w'"Ha 700
DRI .OWT WY YIRS 7
IR RO WIN D0 0w

PN 1"22 AP Y72 VIR 0T
2"71%n avon 9109 127P2

Y RS (913 200) o8
P P10 2'TRnw TR
VIR NRD ARW WA onRam

VIN°2 WIPW D"YR 709

W PT PR NP WWWIW AR
TIWY DA (MYYo1) 2"nmEn
NPT AW ) LA w7902

(XnHya

n'"n 7P T VIR ARY an0I7
2"73n Y PTwe

PR (R,72 1pR) NP bran
0N 9NAT 720w TR IR
X7X 7272 737 PR 91 Awh T
X237 I K7 WIN° 7210 PRI
RITW ROR 19 WIR® 72100 N7

.2"nxn

29 RT12Y maw abw: (X®)1 an

20

TosfosInEnglish.com




